log (*)
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LABJNDuUO standard lightnessI*

nc™ 'w

nc=100,

1* n(3,6)=146 J* ,(18)=332 I¥\,(90)=517

L* =49, I =

1Y,=18
an=3,6 " Yy=90

LABJINDuUO
tristimulus value difference

Yac=Yw - nc=100,

dY=Agn(A1itAzY)  Ay=0,017, A,=0,0058
Aonpes=L5, Aon a=1,0, see CIE 230:2019
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I*=332 d¥,=0,18 d¥,/Y,=0,0101 .
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application
! range
1
=18
Yy =90

Ya23.6
log (AY/Y)
S=(AY/Y)

LABJINDuO
tristimulus value sensitivity
Yoc=Yw - nc=100,

%1 ABaNDuO=[IN[A 1n+A2YV)I(A 20A )] (Yn/100<Y<=Y,c)
AYIY=AG A1 +AZYYY
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plication
I*,=332 dY,=0,18 dY,/Y,=0,0101

ge

1

1

1Y,=18
Yw=90

YN=3.6
log (Y/AY)
C,=(Y/AY)

LABJINDuO
tristimulus value contrast
Yac=Yw  nc=100

* LagaNDu0 =[IN[(A 17+A2aY)I(A 20A0n)] (Yad/ 100<Y<=Y, )
YIAY=Y/[A on(A1n+A2nY)]

application
range

T S L TS
YN=3.6 1 Yw=20

1*1 AgaNDu0 =[IN[A 1n+A2nV)I/(A 20A )] (Yn/100<Y<=Y,c)

application
range

%1 ABaNDu0=[IN[A 10+ A2 YV)I(A 20A )] (Yn/100<Y<=Yyo)

log (*/1* ;)

LABJINDUO relative standard lightnessl*/I*
P = a

Yoc=Yw nc=100,

%L agaNDuo =[IN[A 17+A2nY)V/(A 20A0n)] (Yd/100<Y<=Y,()
1\ (3,6)=146* ,(18)=332.* (90)=517

log[i* /I* ]=0, m,=0,33

application
range
Y,=18
Yy =90

TmE86
CEH00-2A

log(AY/AY,)

LABJNDUO relative
INUNE

tristimulus value difference
Yoc=Yw =

=100,

%L agaNDuo =[IN[A 17+A2nV)V(A 20A0R)] (Ynd/100<Y<=Y,()
AYIY,=AgifA 1 +AgYIdY,

o
4
* =332 dY,=0,18 dY,/Y,=0,0101 %
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application
range

=clp log
log [AYIY) I AYIY),]

LABJNDUO relative
S/Su=AYMIAYY),

tistimulus value sensitivity
Yoc=Yw -~ nc=100,

1* L ABINDUO=[IN[(A 10+ A2RY)I(A 20A0n)] (Yd/100<Y<=Yc)
(AY/YYAY /Y =(ArtAg Y)Y (AY/Y),]

log[(dY/Y)(dY/Y)]=0, m;=-0,13 1

I+,=332 dY,=0,18 dY,/Y,=0,0101}  application

range

1y,=18
Y=90

YN=3.6

log [(Y/AY) I (YIAY),] LABJINDUO relative
- tistimulus value contrast
CrlCry=(YIAV)(YIAY), v, 2y, =

=100,

L agaNDuo =[IN[A 10+A2nY)V(A 20A0n)] (Yd/100<Y<=Y,0)
(YVIAYY(YIAY), =Y IYIAY )T oA g Agr V) (Y/AY),

1
1 application
1 range
'y,=18

Yy =90

YN=3.6



